o(d dxy) (cm)

Ratig:
=

it ooty

1 0 1 2 73

o(d dz) (cm)

Ratig:

0.954

LU IH L
*+
——
—4—
Eha
——
——

o
-
RIS
+
+
+
+
+
+
+
_.+_
+

.......+.......
+
-
+

.........!.l;........

3 T 0 1T 2 3

—=— DQM_mkFit_QCDHighPt_base

—*— DQM_mkFit_QCDHighPt_retrain

..........................................................................

e = P ; e & Tale T _a
_.:.....*iﬂ.......*:'.f.r...*jiﬂ.g-..,.._._.q-.........,.-n...*.t.,_,.*

Ratios

[

0.95Li

Bt

-3

2 1 0 1 2 3

TP ® (PCA to beamline)

~ M
= :
o :
=~ .
= :
o :
o :
N .
5 £

B

10 1 2 3
TP ® (PCA to beamline)

_i2



	Contents
	Page 1


